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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021. 

Fifth Semester 

Economics — Main 

MACRO ECONOMICS –– I 

(For those who joined in July 2017 onwards) 

Time : Three hours Maximum : 75 marks  

PART A — (10 × 1 = 10 marks)  

Answer ALL questions. 

 Choose the correct answer : 

1. ÷£›¯À ö£õ¸Íõuõμ® Cøu¨ £ØÔ £i¨£x 

 (A) uÛ|£º |hÁiUøP 

 (B) Á¸Áõ´ 

 (C) ÁÍºa] 

 (D) öuõS B´Ä 
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 Macro economics deals with 

 (a) Individual behaviour 

 (b) Income 

 (c) Growth 

 (d) Theory of aggregates 

2. ÷£›¯À ö£õ¸Íõuõμzøu CÆÁõÖ AøÇUP»õ® 

 (A) Á¸Áõ´ ÷Áø»Áõ´¨¦U ÷Põm£õk 

 (B) EØ£zvU ÷Põm£õk 

 (C) •u½mkU ÷Põm£õk 

 (D) ÷\ª¨¦U ÷Põm£õk 

 Macro economics is also known as 

 (a) Theory of income and employment 

 (b) Theory of production 

 (c) Theory of investment 

 (d) Theory of savings 

3. ÷u]¯ Á¸©õÚ•® ©ØÖ® ÷u]¯a ö\»Ä® 

 (A) \©ªÀø» 

 (B) \©® 

 (C) ÷u]¯ Á¸©õÚ® > ÷u]¯a ö\»Ä 

 (D) ÷u]¯a ö\»Ä > ÷u]¯ Á¸©õÚ® 
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 National income and national expenditures are 

 (a) Not equal 

 (b) Equal 

 (c) National Income > National expenditure 

 (d) National expenditure > National income 

4. ‘AÎ¨¦ AuÝøh¯ ö\õ¢uz ÷uøÁø¯ 

E¸ÁõUS®’ Gß£øuz u¢uÁº 

 (A) ÷á.Gì. ªÀ (B) ©õºåÀ 

 (C) ÷á.¤.÷\ (D) Bh®ìªz 

 ‘Supply creates its own demand’ was given by 

 (a) J.S. Mill  (b) Marshall 

 (c) J.B. Say  (d) Adam Smith 

5. öuõSz ÷uøÁU ÷Põk® öuõS AÎ¨¦U÷Põk® 

öÁmiU öPõÒÐ® ¦ÒÎø¯ CÆÁõÖ AøÇUP»õ® 

 (A) •Ê{øÓ ÷Áø»Áõ´¨¦ 

 (B) ÂøÍÄÒÍ ÷uøÁ 

 (C) \©{ø» 

 (D) ÂøÍÄÒÍ AÎ¨¦ 
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 The intersection point of the aggregate demand 
and aggregate supply curve is called as 

 (a) Full employment (b) Effective demand 

 (c) Equilibrium (d) Effective supply 

6. ~PºÄa \õº¦ CuøÚU SÔUS® 

 (A) Á¸Áõ´US® •u½miØS® EÒÍ öuõhº¦ 

 (B) ~PºÄUS® ÷\ª¨¦US® EÒÍ öuõhº¦ 

 (C) Á¸Áõ´US® ~PºÄUS® EÒÍ öuõhº¦ 

 (D) ÷uøÁUS® AÎ¨¦US® EÒÍ öuõhº¦ 

 The consumption function refers to 

 (a) Income and investment relationship 

 (b) Consumption and saving relationship 

 (c) Income and consumption relationship 

 (d) Demand and supply relationship 

7. \μõ\› ~PºÄ |õmh® Gß£x 

 (A) 
Y
C

   (B) 
AY
AC

 

 (C) 
AY
AC1−   (D) 1 – MPS 
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 Average propensity to consume refers to 

 (a) 
Y
C

   (b) 
AY
AC

 

 (c) 
AY
AC1−   (d) 1 – MPS 

8. EÍÂ¯À ~PºÄU ÷Põm£õmøh E¸ÁõUQ¯Áº 

 (A) ›UPõº÷hõ (B) GmäJºz 

 (C) Rßì   (D) Bh®ìªz 

 The psychological law of consumption is 
enunciated by 

 (a) Ricardo  (b) Edgeworth 

 (c) Keynes  (d) Adamsmith 

9. ö£¸UQ²® •kUQ²® Cøn¢x ö\¯À£kÁx  

–––––––– BS®. 

 (A) Áõo£a _ÇÀ (B) Áõo£® 

 (C) ªøP¨ ö£¸UQ (D) C»õ£® 

 The interaction of accelerator and multiplier is 
called as ——————— 

 (a) Business cycle (b) Trade 

 (c) Super multiplier (d) Profit 
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10. G[S •ß÷ÚõUQ, ¤ß÷ÚõUQ |hÁiUøP 
ö\¯À£õk |øhö£ÖQÓx? 

 (A) •kUQ  (B) ö£¸UQ 

 (C) ~PºÄ  (D) •u½k 

 Where the forward and reverse operation made? 

 (a) Acceleration (b) Multiplier 

 (c) Consumption  (d) Investment 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 250 words. 

11. (A) ÷£›¯À ö£õ¸Íõuõμzvß £μ¨ö£Àø»ø¯ 
ÂÍUSP. 

  Explain the scope of macro economics. 

Or 

 (B) ÷£›°¯À ö£õ¸Íõuõμ B´Âß SøÓ£õkPÒ 
¯õøÁ? 

  What are the limitations of macro economic 
analysis? 

12. (A) ö©õzu ÷u]¯ EØ£zv £ØÔ ]Ö SÔ¨¦ u¸P. 

  Write a short note on gross national product. 

Or 
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 (B) J¸ |õmiß ÷u]¯ Á¸©õÚzøu \›¯õP 

AÍÂkÁvÀ EÒÍ SøÓ£õkPÒ ¯õøÁ? 

  What are the difficulties in the correct 

measurement of national income of a 

country? 

13. (A) ÷\°ß A[Põi Âvø¯ ÂÍUSP. 

  Explain the say’s law of market. 

Or 

 (B) ÂøÍÄÒÍ ÷uøÁ £ØÔ }Âº AÔÁÚ 

¯õøÁ? Cx GÆÁõÖ wº©õÛUP¨£kQßÓx? 

  What do you mean by effective demand? How 

is it determinant? 

14. (A) ~PºÄ \õºø£ wº©õÛUS® PõμoPÒ ¯õøÁ? 

  What are the factors that determine the 

consumption function? 

Or 

 (B) ~PºÄ \õº¤ß •UQ¯zxÁzøu SÔ¨¤kP. 

  State the importance of consumption 

function. 
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15. (A) Rßêß ~PºÂß EÍÂ¯À Âvø¯¨ £ØÔ 
_¸UP©õP ÂÍUSP. 

  Briefly explain Keynesian psychological law 

of consumption. 

Or 

 (B) •kUQU ÷Põm£õmøh ÂÁ›. 

  Describe the principle of acceleration. 

PART C — (5 × 8 = 40 marks)  

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 600 words. 

16. (A) ÷£›¯À ö£õ¸Íõuõμzvß •UQ¯zxÁzøu 

ÂÍUSP. 

  Explain the importance of macro economics. 

Or 

 (B) ÷u]¯ Á¸©õÚzøu AÍÂk® £À÷ÁÖ 

•øÓPøÍ ÂÁ›. 

  Describe the various methods of measuring 

national income. 
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17. (A) ÷Áø»°ßø©US C»UPn® u¢x Auß 
ÁøPPøÍ Á›ø\¨£kzv ÂÍUSP. 

  Define unemployment and the explain the 
various types of unemployment. 

Or 

 (B) Rßêß ÷Áø»Áõ´¨¦U ÷Põm£õmøh £ØÔ 
ÂÍUSP. 

  Explain about the Keynesian theory of 
employment. 

18. (A) öuõßø©¨ ö£õ¸Î¯»ÔbºPÎß ÷Áø» 
Áõ´¨¦U ÷Põm£õmøh ÂÍUPÄ®. 

  Analyze the classical theory of output and 
employment. 

Or 

 (B) ¤LSÂß T¼ öÁmk ÷Põm£õmiøÚ 
Bμõ´P. 

  Examine the Pigou’s wage cut theory. 

19. (A) ö£¸UQ & •kUQ ¤ßÛ¯ ö\¯À ÂøÍÄ 
£ØÔ ÂÍUSP. 

  Explain the interaction between multiplier 
and accelerator. 

Or 
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 (B) ‰»uÚ CÖv{ø» BUPzvÓß ©ØÖ® 
ÁmiÃu® £ØÔ vÓÚõ´Ä ö\´P. 

  Critically examine the marginal efficiency of 
capital and rate of interest. 

20. (A) ö£¸UQ°ß ö\¯À£õmiøÚ ÂÍUSP. 

  Explain about the working of the multiplier. 

Or 

 (B) •kUQ°ß Áøμ¯øÓPÒ ¯õøÁ? 

  What are the limitations of the accelerator? 

——————— 

 


